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BCQ/M21 26346

MANAGEMENT ACCOUNTING
Paper—BC-601

Time allowed : 3 Hours Maximum Marks : 80

Note: Attempt five questions in all. Attempt any four
questions out of remaining eight questions.

Question No. 11s compulsory.
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Compulsory Question ( A 97 )

1. Attempt all question: 5x4 =20
qeft I9l Rl g X
(a) Discuss Financial Reports.
foritar Ratel o ==l &l

(b) Explain the purposes of Comparative

Financial Analysis.
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(c) “Fund Flow Statement” is an important

managerial tool? Explain.
“he Tl WeHe! TH HE@UUl AL
EECTUR PR CEIRY

(d) Discuss the meaning and importance of

Profit -Volume ratio.

AT | ST & 31 3T Ao W ==l

|
(e) Explain the objectives of Budgetary
Control.
SS1erd 0T & 32l i AT
2. Discuss the nature and scope of Management

Accounting. Why is it called an essential tool of

management? 15
TeU TREih s Yehfd TR e o == | 39
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3. What do mean by Management Reporting?
Discuss the general considerations to be

considered while reporting to management. 15

yaee Raifen 9 s aregd 87 geud il T
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4. What 1s meant by Analysis of Financial
Statements? Discuss the objectives and

significance of Financial Analysis. 15

fordtar faeror = fagaiwor 9§ == sifaur 22 fa<ia
forgeTo & Segdl o Hec 9 ==l i

5. Your company has the following earning last year:
Profit before Tax Rs. 34, 46,000
Tax rate 60%
Proposed Dividend 20%
Capital:

(a) Equity shares 32,000 shares
of Rs. 100 each Rs. 321akh
(b) 9% Preference Shares Rs. 101lakh
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(c) Reserve in the beginning of
the year Rs. 221akh
(d) Current market price of
equity share Rs. 250
From the above calculate for equity shares:
(1) Earnings Per Share
(11)  Book Value Per Share
(111) Dividend Payment Ratio
(1iv)  Price Earnings Ratio

(V) Capitalization Ratio 15

3Rt ST 1 Trse o &t frefafea o 2

HL Y AH . 34, 46,000
FL R 60%
JEATrord ATHIST 20%
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(v)  SIRToT ST
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6. From the following comparative balance sheets of
Atul Ltd. make out Statement of Changes in
Working Capital and Fund Flow Statement.

I. Equity and Liabilities  2017-18 2018-19

Share Capital 1000000 1100000
Debentures 500000 300000
General Reserve 200000 200000
Profit & loss A/c 110000 190000
Income Tax Provision 40000 110000
Trade Creditors 50000 40000
Bill Payable 20000 30000

Provision for Doubtful Debts 30000 24000

Total 1950000 1994000
I1. Assets
Goodwill 50000 40000
Land & Buildings 420000 660000
Plant & Machinery 600000 800000
Closing Stock 250000 210000
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Debtors 300000 240000

Cashin Hand 300000 24000
Preliminary Expenses 30000 20000
Total 1950000 1994000

Additional Informations:

(1) During the year 2018-19, a part of the
machinery costing Rs. 7500 (accumulated

depreciation thereon being Rs. 2500) was

sold for Rs. 3000.

(11)  Dividend of Rs. 80000 was paid during the
year 2018-19.

(111) Income tax actually paid during the year
2018-19for 2017-18 was Rs. 60000.

(iv)  Depreciation for the year 2018-19 was
Rs. 50000 on plant and machinery and
Rs. 30000 on Land and Buildings. 15

g feafee & frafafea qoras Sofg 3ie 9@
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1. St 3R YuaTd 2017-18

IR gt 1000000
fed=X 500000
SENGATEC 200000
A SR B @ 110000
3T YT 40000
SR TR 50000
7 faet 20000

iy F0Tl & foi qraem™ 30000

E gl 1950000
I1. §uta

ECCICE 50000
g TR e 420000
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1100000

300000

200000

190000

110000

40000
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1994000

40000

660000



T 3R TeiEd 600000 800000

FATSITT Tih 250000 210000
STER 300000 240000
BT H s 300000 24000
IR =T 30000 20000

HA 1950000 1994000
faf<h STHaRRT :

G a9 2018-19 &% INH T & TH AW

fSTEehl @ &, 7500 (36 T Hiwd HeIg™

2500 T9F) 3000 T9F o TeT@ S=m T ol

() &9 2018-19 & SR 80000 TII T AT

CARUGIERER IR

(i) 2017-18 & forw o1 2018-19 & I aAEd
T A TR T ST 60000 €9 1
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7. Define Cash Flow Statement. Discuss 1its

objectives and procedure of preparation. 15

Y Tl W w qRHIft il THE ILIA 3N
TR T i o ==l

8. Following data relates to ABC Ltd.

Sales (16000 units @ Rs. 15) Rs. 240000
Variable expenses 192000
Contribution 48000
Fixed Cost 36000
Profit 12000
(1) What sales are needed to achieve the

objectives of no profit-no loss?

(11) What sales are necessary to result a net
icome of Rs. 11000 the corporate income
tax being 45%?
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(111) What should be selling price per unit if
break -even point is brought down to 10000

units?

(iv)  What will be break-even point if 10%

increase effected in selling price?

(V) How many units should be sold if sale

price is reduced by 5% and a profit of

Rs. 140007 15
frefafed stiwe T fafies 9 Hefud 21
fashT (16000 3HEA @ 15 TIF) %. 240000
LIECREIRECE| 192000
I 48000
= @ 36000
Ik 12000

(i) T Yifthe-1 @9 & SEYA Rl 91 H h
fore fore faent &Y STEvaRdl 22

(ii) 11000 9 ! Y 3T & RO & foAQ i
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9. The following expenses at 60% capacity are given.
Find out the overhead costs at 50%, 70% and 90%

capacity and also determine the overhead rates :

Variable overheads: Expensesat60% capacity

(Rs.)

Indirect Labor 10500
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Indirect Materials 8400
Other Overheads 3600

Semi-Variable Overheads:

Repair and Maintenance (70% Fixed) 7000
Electricity (60% Fixed) 25200
Fixed Overheads:

Office expensesincluding salary 7000
Insurance 4000
Depreciation 20000
Rent & Taxes 12000
Estimated direct labor hours 120000

60% &rmal R Frefafed = KT e 21 50%, 70%

3 90% THdl T AeREe TNTd Sl Tdl U 3R
Aaee X ot fAuffa =

IREqa Uy ; 60% STHAT WX = (&, )

A AH 10500
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YT AUl 8400

3T IURY 3600
i -ufadia suftea= :

T SR W@ (70% fhees) 7000
ferstedt (50% TheRee) 25200
freRe mt

- Wied ey 43 7000
CIE|| 4000
qegH 20000
feparan 3R 12000
STAIA Jeaet o = 120000.
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